DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

361) 35]1.7+1 =

w2 487.6 + (—10) =
363) 30674 =7 =

361) 5892 + (—6) =
309 —37.08 =3 =
s66) 3878 + (=7) =
307 —33245 + 5 =
s08) —304.7 =10 =
309) —7982 =+ (—1) =
3570 709.8 + 3 =

st 17415 + 3 =

312 68310 + 10 =

13 97.23 + (=7) =
1) —161.19 + (=9) =

) 12719 + (=7) =

Mathematics: Division - Level 6 - Horizontal - Set 3
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14

1252.2 = (—2) =

2483.7 = (—3) =

58590 + 7 =

35958 + 6 =

—10224 +8 =

40750 = (—10) =

—144.72 + 3 =

—3987.6 +4 =

—101.4 + (—=2) =

43770 = (—10) =

—67235 = (—7)
159.2 + 5 =
009.4 =+ 1 =
38070 + (—9) =

4314 + (—10) =
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